Physics LISC ‘ Foz

2

~ “The jdea Ls +o fadvr oot e e,)tf?ﬂd‘-t‘.&[

'bEJMVi‘Or" [V ﬁ'(' T+ls  easiest o
0 e (n fpf‘t,Ps

# U@a,ff) = e 3\'&(}’5 mi";;ffz"f

Sese cancel [ we daose @ = -K* ‘>
since Thie 15 a boval édﬂlﬁ T<O

8
:ance,[liﬂj 6“a<_f T Lﬁ( WJ¥{
) Vi (T) ch{v,v (,.,) [_ ;i J’MH) \,ﬂ(,\) o
I Soﬂml The nﬂx"r 5+el:> s to fake
Ve, (§) = pA* we, (P )

k=0 shart
| and WA qj) Z C"‘P <« berauﬁeaf'?""”
but 1ok st Ck ms}‘ hot stl e.-a:j)

%f{:rfss iow

as Jo-zwol

G —



2

ﬂ\»}:f:rcﬁ; “SC) =027 1 _

Vu(§) = G F Wz (9) + $H 0w ()

Ve, (5) =0000) 52 Wy (7) + 2004005 Wi (5
- P )

Fl”ﬂﬁi“f& buck o The ¥ eguation,

—

2(R)5AWa(7) + 2000 FLwe (3) + F4 e (3)
—20{{(%0}7’2 W, (p) 4~j‘>“‘wéj(3ﬂ73

2 Fhocf) —OOnFHw ) = O o

o0
A = = =k
now We, (§) = é‘}ockf
Weo (§) = Eockkf :Eoc“’(k“f

u oo _

o S Eeuttns
lbt‘n hn an y
2UNPLZ Cnle) 5 ¥) + 52 ZC,klbn) g
~ 5 = ~ k. ~ Q+ oL . o -
{0 p 2 G P E Gk

+2 oL = o~k —
b gckj’ O
note That as Wriﬂ'ﬁh) every term s
O'G oroer ?9“4'% SO We Cwn {,@HC(/'(— ”n/le_

coeBoents .



Physes lISC | Foz |

2%

(’Z UIH)(k n) + HE l)) Cop=2 (a&[l+l+k] - ')Ck =0
= (k) (2U+) £k ) B
Cont = - X[k] - |

ot ]‘Cy S R )

_O Can awn infimte geries woyk 7/
-1;\"\ Th&l"' cu 56) 4 za{P

im G = Z 0 hle e
k->00 Cy |V 114 a7y
=\ + 249+ S (24p) +3i

—

¥\ -dp g
HhAUS- UA D{-Nl e Pe+2°{P
g Y & ¢
d\‘u@lﬂ‘ﬁﬂﬁ. . ]"eran
wmeri)  solvhom _

Z) seyres will Teyminate 1€ fue
Some. g
%‘S‘ = O = «{kel#]-]
.

xX=)-t ko+4+)

-E _

T (kwa)* EEESkay
= = (v gy o (L+.0.in)"'x  AalE A

L \—\_______\\_

+ .-




- Physis li5C| Foa 24
The principal quartvm number n 15 deTined
| n=k+l+1\ minimem N s Them O
| | nO  YAAX U
C But There 18 d\ﬁge"nwan{ ) Q Varn‘rd\/ of
L can make the game wn °
L=0,1,2,_.-,n-
The spectum 15 offen represented The
%\lnwmﬂ wa,y .
€0 o
qy T —— =3 M
YT T e
E
‘-.
|
| e @ S50
%?3{513-_:4 n=1 ok
E-—f‘"]ly.;
Ryrg‘}d} 2=0 9=\ D=2 0= 3
L \{PH ‘ﬂdb' W
nle! an 0o # oF bovnd ztules
[r‘emgm\aw’t’,) Snce [V[J)l..:p D
slower Maw y(*z.




thysics, 1ISC | Foz |

JZ;

Waye Fonchms lots of back trudkein
Bl Oca T of Cp-35% ool
ffl= 5= §e 7w, (p)

i 1 - ~ ___i 22 o
x = V—-?-:. "VT = “"‘-—E-:—- Eo Z.-Z'yx'
-4 - o
Wy (D) = 4 C, vk o€ “Laguerre
@ fl® 5 Pﬁynmm Bee
20+ . ?
Ly 25)
remem pen” Bl & _ A
P = L r o Q, e
| © o X af \ -x P
Phe‘(_}?r)ex o0 TR
E—— — v dk T P 0 = | c"{~ex+a]
L ¥ () )]_“ #\ Vi
© (3‘?‘ Ptk | = S\ex 2k 12
e.}sarnpl.l'- L’—" ' = 2-Q+l ) ,Q':O ) SH W A — ‘2:_23{,,4:.?‘_?:_
| n=1,p= 0 |
| I - [ _ l d o — —-A i 3
- Le=0D S L d&(l Ry
| k:: '2.'-'*"2.,0.'1:[ ="l
I n= 2) F: 2"["‘*""0
L = ‘Al 0 = +) =
LO :(’f) ?A_.E]" L?— = i’—;—-l(Z"Zx +X = 2
- et

e T o P i e

R NI R -

liwhmj bc.ha\ﬂj; fn—;_; 5 BREREE"
QM( ?—) i P X ? e N ._P e "

Normalizattons - just look- up

-X

B e



